Carpenter Level 1

Q 1) The first formed round dark portion of the tree is called ................ /& P UEA S MA TSR U DI .. ...
.......... FEA G |

A) Ring / dclY
B) Pith / T[T
C) Bark / ®Tcl

D) Cortex / Gehd (PIea)

Q 2) Which of the following can resist attack by white ants? /T o e & SATHHY B Yg Thal g 2
A) Deodar / LGN

B) Teak /
C) Chir /TS
D) Kail / &

Q 3) Which saw would be best choice for cutting an opening in wallboard for a switch box? / g9 s o forg

FIaIS & YR M & o0 Ta oresT uwiciar A1 (3 BHIF gh 2

A) Key hole saw /B Eﬁﬁ Ir
B) Coping saw / HIftT
C) Hacksaw / i

D) Back saw /9% Tt

Q 4) Name the part of the band saw machine which is provided between the wheels to support the work piece. /

I o' IT = & U BT A1 Id1¢ o1 e T &1 TgRT ¢+ & o ufedl & g e o g |

A) Table /38|

B) Arm / 3TH

C) Guide post / MgS URe
D) Column / HiaH

Q 5) When a tree grows, many of its branches fall and the stump of these branches in the trunk is covered. In the
sawn pieces of timber the stump of fallen branches appear as ............... /Sld ﬁg dedl % GIERSE ﬁ BURCILY
IR E SR 1 & 3 raait

A) Spot/ ?lfl'l_cr
B) Knot / Hlire)

C) Ridge / Rt ('Cﬁ?ﬂ)
D) Wedge / s

Q 6) In the figure given below, which one is dovetail joint? / EiE] %Q Ry 3T § HH-IT Slacd Gﬁ%*—t‘f % ?

—
C

E
o

A) Joint A / SIIg< A
B) Joint B / Sig< B
C) Joint C / SIg< C
D) Joint D / Sg< D

Q 7) Identify what is shown in figure given below. / UgdI PR & g RE W F7 fezaman man %



A) Pins / f0=9
B) Ribs / &
C) Dowels / ST33{dT
D) Keys / DI

Q 8) Which of these joints is so weak that it has to be reinforced with steel plates or brackets when building roof

trusses? / 39 Sgcl B B9 3q1 HHIR 81T ¢ [ T BT ¢ T THI 3 T & Wiel 1 sibel I Holgd
BRI ?

A) Dovetail joint / Slaca dig<

B) Bridle joint / STSSd g

C) Butt joint / §€ SIg<

D) Mortise and tenon joint / e iR & \_STUIBTC’

Q 9) The distance from a given point on one thread to the corresponding point on the next thread is called ...........

@ IS RRAM N o ds RGsRaigad i gdiady. ... ........... FEAG |

A) Helix / 3forag
B) Lead / TS
C) Pitch / fU=
D) Flat/ Udie

Q 10) Which type of lock is NOT permanently attached to the door? / T PR 1 Al axars! I R & 3§
ST AT TEI Il & 2

A) Pad lock / US @i
B) Knob lock / BICKSIED
C) Deadbolt / SSdIT
D) Camlock / $HATG

Q 11) A clicking noise on a band saw indicates .... /feT RGP Fiemas. ... .. 2l ST W% I

A) A broken wheel guard / €CT g31T A MS

B) A crack in the blade / &S H &R

C) Electrical power tripping / ﬁﬂ\?rﬁq ICES Eﬁ"'[
D) Nothing wrong / & RIGREE

Q 12) What is the type of hinge shown in figure given below? /r ema # e TR &1 S feaman man g 2

A
A
A) Butt hinge / 9 e
B) Lift off hinge / feTde 3T fgs
C) Flush hinge / eI fgof

D) Security butt hinge / GR&T ¢ g
Q 13) The size of a tablesaw is determined by the ............. /| CEA &b HTHR @I . . . .. ¥ i d % |

A) Height of the table / T &1 Sdlg
B) Shaft diameter / YT & TR

C) Blade diameter / S BT A
D) Blade width / &S &1 TSTS



A) Carpenter s box / HRUR SId
B) Shaping box / RIfURT Sla

C) Slitting box / AT died

D) Mitre box /ﬁ-l?ﬁ CIC|

Q 15) The tool used to test squareness of wood is ................. / F’ﬁlﬁ‘:}f P IRY B o B P fom Ugad . ...

A) Ruler / ¥R

B) Framing square / THiHT R

C) Try square / ET&F WM

D) Combination square / o W

Q 16) What is used to extract nails? / CANKEANEEARERD 1%111 T YA E-FIT % ?

A) Ball pein hammer / T O 3R
B) Claw hammer / &ciT %TIT

C) Mallet /
D) Sledge hammer / W g

Q 17) Figure below shows a piece of wood held in a vice. When using a plane, which direction should it move? /

%ﬂjﬁagﬂ@fﬁa@ﬁmmwmg&nﬁ@mw% | TS W &1 JANT 6 6, o1 39 oy = &
?

TN |

A) From left to right / CIRE AR

B) From right to left / FEEIE|o]

C) In any direction / foat off iemm o

D) Direction of movement is not important / ‘g'ﬂlﬁ &I %QT[ Wﬁ% |

Q 18) Which tool is used to make a fine cut in wooden workpiece? / m & ghug | A e @A & forg
o ST BT TAT BT © 2

A) Hand saw / %_S' ar

B) Wooden saw / 48 ar
C) Tenon saw / Gkl
D) Rip saw / o=t

Q 19) Which statement is NOT true with respect to the tool shown in figure below? / i e # feme e cd
& Y H D I HYT I To1 & 2



/
V4

A) It is called brace /3@ R Wﬁ % |
B) It is used with auger bits / 3% 3TTR fdc & WY WA IRA & |

Q) It is used for drilling small diameter holes / 3@ B A a1 ©¢ B ET“T FRAD ﬁm TN Hd % |
D) It allows a lot of force to be applied to the drill bit/ dg ﬁ';?“f fae dgd Wlal d¢f TN A adl % I

Q 20) Freshly cut lumber that has not been dried is called ................ / BT H Fel TR (PTY) S SREl 7‘@1%, -

........ FEAG |

A) Raw lumber / H =T ¢FR
B) Fresh lumber / dTSIT ©FR
C) Green lumber / BRI TR

D) Base lumber / I TR

Q 21) The marks put on boards or pieces to keep them in order during gluing, joining and assembly, are called

.......... / R, SeH 3R TATEd B & U SIS a1 ¢hs & A N I8 8d 39 R MY T AE &Y . . ..

...... Fed g |

A) Assembly marks / T FRIE
B) Witness marks / faeg =

C) Visible marks / faforaa A=m

D) Limiting marks / fafafe fem

Q 22) The post (figure given below) at the top or bottom of a stairway that supports the handrail, is called ...........

WP SW I H URe (19 SRE B e g ) S SR B FUe RIS, . FEAG |

A) Newel / Jad
B) Muntin / A
C) Ogee / 3Toft

D) Mould / AT

Q 23) The angle at which the leading edge of the teeth are cut on a saw blade, is called / I8 TTd] SRR

T U T I8 R Pe PRATS, oA &

A) Face / Y

B) Rake / &

C) Cutting angle / Carl T

D) Clearance angle | FRAERT U]

Q 24) The kind of door used in fire exits is ............... / 3 e grR |

A) Double action door / Sd¢T TARTT 3R

B) Panel door with panic bar / % §R Yad YA B8R
C) Panel door / PERESIN

D) Revolving door / fafedn eR

Q 25) The disadvantage of sliding door is ................ of cabinet opening is available. | RETER BT TG §

fob fee siufmer. . ... ... SUAH BT B |



A) One-half/ AT

B) One-third / T fagTS
C) One-fourth / T <1UTS
D) One-fifth / Gra/@l 4T

Q 26) The %pper most member of a door frame is called ................ /SR A & IT SUT AR BT . ... ... ..
....®PEdE |

A) Door head / SR %3

B) Door roller / BRIAR
C) Door closer / SR FATOIR
D) Door jamb / SR

Q 27) The member which is placed horizontally to support common rafter of a sloping roof, is ................. / AR

oI Te B & T TR DI YR & & forg &faeid: @A, ..o =

A) Purlin / G
B) Cleat / &l
C) Batten / e
D) Strut / ¥¢c

Q 28) Which of these is NOT a type of truss? /S TH DI T DPIYDPR B,

A) King post truss / fhTuRe ()

B) Queen post truss / P URES [}
C) Prince post truss /e uRe (3]
D) Pratt truss / Yoy

X

Q 29) The outer protective layer of a tree is called ................ / ﬂ—s’ EACIRR gR&THD URd Pl Fed
g

A) Bark / STl

B) Bast / T

C) Cambium / HFTSH
D) Sap wood / qg ds

% 30) The ratio of rise to span of a truss is called ................ /Eﬂ%@q R I & S{UTd Dl PEd
&

A) Scale / W
B) Lead / IS
C) Peak / Ui&
D) Pitch / {0

Q 31) A tool similar to an axe with the blade perpendicular to the handle, used to carve wood, is called .... / ddbal

mm%mmmwwm%wmmmm%mma ...........
!

A) Awl / GaR

B) Adze /

C) Scraper /
D) Gouge / T3S

Q 32) When you use a chisel, it is important that you ......... / ST 31T S BT YA X § o I8 Hgayul gral §
f&

A) Keep both hands behind all the times / X JHY FEIRUIEIRIERSC]

B) Hit harder if chisel is blunt / ¢ &1 HIRRT 81 A IR ¥ AR |

C) Chisel across the grains if possible /TfE U B ol U & 3RUR TI%

D) Use the biggest possible chisel at all the times / 8 THT T FST GHIIT S+ BT T X |

Q 33) Which tool can produce mouldings, trim edges, form recesses and cut grooves? / DI T 3R Tﬁ'%'rf,
fou U 71 T 8 , I 1 Uhdll § 3R Yool HIC THal g ?

A) Jack plane / ST @
B) Belt sander / e T



C) Reciprocating saw / IRyBfeT It
D) Router / ¥¢X

Q 34) A jointer is a tool designed to ................ / SR TH Gﬁwam ........ %m%ﬁmmw% |

A) Cut mitres / FHadr th PIeA

B) Apply glue / ﬂaﬂﬁ

C) Plane surfaces / 9dg P FHIA I
D) Rip narrow stock / T WIH BT IRA

Q 35) It is a knife which has blade between two handles. The handles are at right angles to the blade. It is used to
smooth a surface by pulling the blade over the stock. Name the tool. / dg Udh Tl A Qi F fa s
FAIE | T RS b |

A) Pullknife / AW

B) Drawknife / STHISH

C) Right angle knife / J$¢ WA AGH
D) Bridge knife / Sl TS%h

Q 36) A hxagonal wrench is also known as ............... / W'Uﬂ'q £k FUTTRR & A9 Y ot ST S %
I

A) Allen wrench /Q?l:fﬁ?[

B) Stillson wrench / feae i
C) Socket wrench / Jide =
D) Ratchet wrench / Tge =

A) Casters / PRy

B) Cambers /

C) Rollers / A

D) Drag wheels /3"'[ Sl

Q 38) The preferable way to cut the ends of a number of boards at the same angle is to use .......... / ﬁ TSP
P TARPICAG AT ... FITIRTEIAG |

A) Mitre box / TSt Sia

B) Protractor / Ehéﬂ??

C) Combination square / PHIERH e
D) Combination bevel / HIGRE 9ad

Q 39) You have a short section of lumber which you want to round off. Name the suitable file for this work. /

3T U TR (BTF) BT BIeT HIT ¢ R 3 M ST a18d 8 | 39 B & forg Jugad it &7 A §aTd |

A) Single cut / Rt de
B) Double cut / S HC
C) Curved cut / Poe Pe
D) Rasp cut /I HC

Q 40) Black sandpaper used to smooth metal and take off rust is ........... /41g B! BT B 3R ST b &
U U P IS IRE . ...

A) Emery / T

B) Aluminium oxide / W 3@13_6'
C) Silicon carbide / Fifeien w1alss

D) Pumice / g

Q 41) Which of these is NOT an abrasive mineral used in woodworking? / S_"Fef Yo g frRa q%’r%



R A g afb & R garg 2
A) Garnet / e

B) Ceramic /
C) Silicon carbide / RiferH F1algs
D) Calcium carbide / HIeRITH HTEZS

%42) Before turning \%ood on a lathe, make sure it is ................ /AEWR m FreFHTHEA Ugd ﬁﬁ'@ﬁ
feag......... |

A) Hardwwood / TR&d Adh o1

B) Free of saw dust / qrewe ¥ Had
C) Free of defects /N g Had

D) Softwood / -IRH dqAdbol

Q 43) What adjustment on wood turning lathe you should make before sanding or polishing? / 48 € = dE W
& 7 UTere X U UB S| T HIA S AT ANfgy 2

A) Move the tool rest closer to the stock / _g'aw B LD & EECC q My |
B) Remove the tool rest / @W CaRREAG

C) Add lighting to the work area / BT & T UHT Pt qaRIT PN |

D) Add a second tool rest / gHXT @W e |

Q 44) What can help prevent slips and falls on shop floor? / ghT P B2 IR fhgem a1 fiRA I A & 1
TR R FHT 8 2

A) Using short ladders / EI ?ﬁ’(‘.ﬁ BT TN HAT

B) Wearing leather soled shoes / ?ITI% CaSINICIN] [dl Yg T

C) Keeping the floor free of clutter and wiping up spills | R Bl FAeR Had XQ-1 R BAB B! U &1
D) Keeping an even layer of sawdust on the floor / B9 IR IS Bt YA TR T

Q 45) When the safety rules refer to horseplay , it means .............. / SId GRET e & griw &1 T S % ar
EEAC U

A) Fooling around / &g o

B) Throwing things around / IRI 3R o e
C) Animals on shop floor / P & HRI R gy
D) Playing game of horses / 314 Taeh @a QW

Q 46) When using a plane, make adjustments carefully because the blade is .... / SI§ W ! YN HRd %, ar
Frayrgde TAEIeH H FEifb s ... ...... g

A) Soft / JaTH
B) Beakable / €& a1

C) Sharp / URaR
D) Expensive / Ha T

Q 47) A thin layer of expensive wood bonded to a thicker piece of cheaper plywood to give the appearance of the
A .

expensive wood but at reduced price is called ..... / & INIERS] & Hie hS RGN E‘Imé P Udeh IRd

DR HET A el 811 &1 MU faar Siran

A) Copse / DT
B) Veneer /

C) Thicket / Rfde
D) Lumber / &I

Q 48) A liquid preparation that dries to a hard lustrous coating is ........... / Th TR el S JUDH Ied
THHGR RV T AR, .. ... ... BAE |

A) Wax / 999

B) Primer / UISHY
C) Varnish /
D) Sticker / ReaR

Q 49) What is f in the wood turning lathe shown in figure given below? / i femm e s | gsc A Hf
G2



A) Headstock / ST
B) Lock knob / @l A1d
C) Tool post/ g€l e
D) Tailstock / CTRCTH

Q 50) What type of surface is produced when facing operation is done on a lathe? / SId de IR BRI far axd
8 O [P TR &1 g ST § 2

A) Flat / §UIC

B) Taper / forer

C) Cylindrical / ST®HR
D) Conical / TpHT

Q 51) What might'you use to hold together two piepes of wooq if you are planning to glue them? / afe ey
THS! P &l Th Sl B RIUBM &1 TS ST 36 §, A 37 &1 chel Bl Ueh TTY Thg b eTT 31T T TRINT
BT 2

A) Hex tool / %W cd

B) Biscuit joiner / fafpe Aig
C) C - clamp / T -

D) Lever / R

Q 52) In CNC machines, the mode ................. Is helpful when you are trying out a new program. / dte

T & O ST T I P P SRR SA g A AS. .. ... ... TEH eI g |

A) MDI / TH S 318

B) Single block / RiTTd sl
C) Edit/ Tf$e

D) Initializing / 3RIQTRISRT

Q 53) Plumb bob is used to verify the ............. /AT BIYART . ... BT AT B P [T BIATS |

A) Horizontal level / BIRvIed aad
B) Vertical level / gféhd dad

C) Parallel level / WA dad

D) Surface level / WHY dad

Q 54) Which of the the following fire extinguisher is suitable for electrical fire? \Fraforaa § 9 o
3if¥ramaes faggedtg oiftr & for Sugad 82

A) Dry chemicals\J[h JHIT
B) Water\STcl
C) Foam\WIH

D) Soda acid\ 18T TRIS
Q 55) Water is used to extinguish A Call §§Taf & T Ut &1 SuanT fosa Sian i

A) Class-A fires\90fT -A 37T
B) Class-B fires\JUM -B 31T
C) Class-C fires\9Uft -C 31T
D) All of these\d T+

Q 56) Which one of the following is not a type of straight cutting saw? \Fafafed & @ o9 @ e e g
I BT TP TPR a1 52

A) Bow saw\&! 91
B) Rip saw\RT IF
C) Tenon saw\CT T



D) Dovetail saw\8ded 9t

Q 57) Which tool is used by carpenter sawing along the grains?\a'f"l&f & 1Y Te3 & IIe7 B & [T fog
USRI BT TN HT 52

A) Plane\WH

B) Chisel\dISTdl
C) Rip saw\Rg IF
D) Hammer\%m

Q 58) Compared to other types of saws, tenon saws have \3I UHR & I Bt LK ff, Ty
I

A) More teeth per inch\oIfdl R 3P qid E’Pﬁ %
B) Less teeth per inch\gfd EEEC KA Eﬁ?[ %

C) Same teeth per inch\Ufd 32 THM S B1d §
D) None of these\g_"lﬁ q ﬁ =ra“r

Q 59) What is the use of circular saw ?\W T BT IUANT T %‘?

A) Ripping\ﬁﬁ"[

B) Mitre cutting\HIIcX PicT
C) Bevel cutting\aa?[ P
D) All of these\d Tt

Q 60) The length of the trying plane is AIE B F’I'W'I_st Gl % 1

A) 600-700 mm\600-700f3H.
B) 700-800 mm\700-800 TP,
C) 450-500 mm\450-500f,
D) 800-900 mm\800-900f3H.

Q 61) Which part indicate the age of a tree?\SIH-TT U forl} U Y ST & QRIIdT %

A) Pith\T0y
B) Ring\f&TT
C) Bark\§Tdh
D) Cortex\

Q 62) What is the scientific name of wood?\ L_*ﬁb_{ﬁ 1 AN 1 T %?

A) Xylem\STSeH
B) Xylastrus orbiculatus\SIT IR T \mﬁ@—d\g
C) Parenchyma\ '

D) Cycadophyta\mtb—lé?[
Q 63) Which of the following is an example of soft wood \RERIRIT & q D1 W1 RH AHS! BT Th ISTE0

7

A) Deodar\GagR

B) Sal\{TcT

C) Oak\3i&

D) Mahogany\rl_eﬁ"'l:ﬁ

Q 64) The cracking on the outside of a log due to shrinkage of exterior surface is called . \T“I%' &

e Tde & Ripe & HRUTEIA arell 918 RR FHEAd 3|

A) Wind crack \ 91 xR
B) Ring shake \ 91 faamy
C) Upset \

D) Wane \ &d

Q 65) Which of the following is not a type of Chisel AfY AV ST A BT UBR e} 82

A) Hot chisels\8Tc dio@
B) Bench chisels\§d dIoTdl
C) Butt chisels\§¢ Iod



D) Cabinet chisels\@Tare e

Q 66) %he quality of timber does not depend upon et RYUCKI R R 7Y
2GS

A) Size of tree\ag CARSICAN

B) Maturity of tree\a??' P uRuedr
C) Weight of timber\[STR & YR
D) Type of tree\ag & UHR

Q 67) Identify the hand tool shown in the figure?\fTH H I T2 5% SINIR &1 UgaH &2

A) Gimlet\fTHe

B) Screwdriver\%'lga?
C) Star-head Screwdriver eR-88 T QIaR

D) Flat nose plier\tlﬁ_cr BISATSIPH

Q 68) Identify the hand tool shown in the figure?\T H I T2 B SINIR &1 UgaH H¥?

A) Hand drill\§08 f&a@

B) Gimlet\

C) Ratchet brace\TC S

D) Electric drill\ §aiface &

Q 69) The joint is used in high quality furniture drawer construction.\ 3= JUTGTI T BT TR
& fAafr & ferg SIS U fpar Srar 3|

A) Lapped dovetail\ S Saed
B) Rabbit\

C) Dado\S8!

D) Lap o

Q 70) which one of the following is a box joint?\FEfREIT H T S 1 dfey Sige 82

A) Comb joint I Sige

B) Tee halVing\?ﬁ ET%T[

C) Corner halving\@TR gTfed T

D) Tenon and mortise\& 3R ATFEY

Q71) joints are employed to extend the length of a member by joining two pieces of timber.\

OS! bl TThel &b Gl b e I QTR Ueb YT 1 TaTs dg b foTg e | foran ST 21

A) Lengthening\a‘ﬂ En
B) Angle\UTTe
O) Lapped\a'@'

D) Widening\dIg S En




Q 72) Density is calculated by .\ GTcd Y TTOMT Y B STt ]

A) Mass + Volume\GTHT ~+ HId"
B) Volume + Mass\3HId- + ggHIT
C) Volume X Mass\STIdT X GHH
D) Weight X Thickness\HR X HIeTS

Q 73) Which of the following is a part of screw driver?\FHH & § DT UTH Y BT T HFT 82
A) Blade\&TS

B) Tip\[ed

C) Shank \Q

D) All of these\d T

Q 74) Identify the hand tool shown in the figure?\T H I T2 5% SINIR &1 UgaH H¥?

A) Pincer\fURR

B) Combination plier\ﬁfﬁeﬂﬂq IR
C) Tong\a."T

D) Flat nose plier\‘q%_cr BISATICH

Q 75) Which conversion method is shown in figure given below?\ 7 faU T for & FuiaRur ot CARESIACID]

RDIRIEES

PSS

Y

.

L

P
Wt

A) Tangential sawing TR BN
B) Parallel sawing\aw BIEU
C) Radial sawing\m GIEU
D) Quarter sawing\@'ﬂ'& GV'I%T[

Q 76) Fiber board are also known as ACIEEEY S Bl ot el SIldl %I

A) Pressed wood IS ds

B) Passed wood\UT¥S 48

C) Light wood\dlg< 48

D) None of these\g_"lﬁ | a’ﬁ_ﬁF el

Q 77) A thin sheet of wood rotary cut, sliced or sawn from a log used as a superior facing to inferior wood to form
plywood is \g8 A Fe P TH yda e, S T dhal & Ths U TS 1 T &1 718 8 3R
orgesT T gfedr Aol ®! Jdg dgd” §11 B

A) Veneer\@TaR
B) Particle sheetUTéSma 2fie

C) Cross bond layer\wvm EISEEG]
D) Vinyl sheet\ﬁ:ﬂgﬁ Tt

Q 78) It is made by bonding together thin layers of wood in a way that the grains of each layer are at right angles



of the adjacent layer. It is \aﬁﬁqﬁ?ﬁqﬁﬁ &mﬁsﬂaﬁﬁwmwm%ﬁ
U URd & U1 1Y dTell IRd &

A) Plywood WITSdS
B) Building wood\[sfcET 48

C) Cork board\&HTH TS
D) Hard board 8BTS &S

Q 79) Which layer is called “core” in plywood? \131%‘91,3 T fhg IR Y BR BT T 82

A) Middle layer\H& UXd
B) Upper layer\m WRd
C) Top layer\Qﬂ'Gf WRd
D) Side layer\tlTpd; Wd

Q 80) Which one of the statement is not an advantage of plywood? ek kalL] Wﬂg@_s' Pl UD dTYH T8 82

A) It will shrink and warp easily\de ST ﬁlﬁ"'ﬂ 3R ﬁ% Bhm

B) It is manufactured in very large size\do dgd a% HR H fAfHa grar %

C) It is lighter in weight\Tg aoI4 H geab! BIdT §

D) It can be easily worked and bent in shaped and designs\¥ UX S Y T fordT ST g % 3R 3MHR
3R fESTe & gevran o Wl 3

Q 81) Which part of the tree is mostly useful for carpentry work?\ag Cakapkll fowr SararaR de é‘ R & &
forg Iuayit 82

A) Heart wood\BTE ds
B) Sap wood & ds
C) Bark\§Th

D) Root\¥=C

Q 82) Which vice is used for sharpening the saw NI I do] B & 7T ford a2 BT SUANT foha SiTan %?

A) saw Vice\ﬁm

B) carpenter vice\BRUT Eﬂgq
C) Bar clamp\dR FAg

D) C- clamp\ﬁ[—ﬁq

Q 83) Which of the following is not a preservative of timber?\FafREd & § o9 o1 ferar ufRes qﬁ%"

A) Glue\le]

B) Tar\cR

O) Creosote\HINIC

D) Chemical salt RIS e

Q 84) The angle of single cut file is R Ta ®e LIENED! PHIT Eﬁ?ﬂ %I

A) 60°
B)51°
C) 70°
D) 90°

Q85 A ﬁlg used to make saw pointed is \TT BT ﬂ?ﬁ?‘l'[ T fog TORT &1 S arelt HIed,
I

A) Triangular file\ ol w1gd
B) Half round file\T®h I3 BISA
C) Irregular file\3fAd WwIgd
D) Auger bit file\3"R foe B1gd

Q 86) “Knot” is a kind of defect in timber, which happens due to \TITS m T Ud USRI QN %,
Sl GG

A) Natural cause\qm HRUT

B) Seasoning\?ﬁﬁlﬁ'r[

C) Attack by fungi\dbdd HT gHA[
D) Attack by insects\a'ﬁ_s.;f hHT gHT



Q 87) Which is the most rapid and effective method of seasoning?\?ﬁ\_rlﬁ"'f CHRER T 3R et fafd i <
Gl

A) Electric seasoning\%ﬁ&fﬁb‘ T
B) Kiln seasoning\*@ RiSIEHI

C) Natural seasoning\q@ﬁ?ﬁ BiSIEU

D) Chemical seasoning XTI HIST=T

Q 88) Which of the following is a type of non-refractory timber?\FEfARIT H F B qﬁ-ﬂaﬁ?ﬁ forR 32

A) Deoder\fSTTER
B) Teak\Clds

C) Sheesham\ZfRH
D) Sal\¥Td

Q 89) joint is the simplest form of carpentry joint.\ Gﬁ‘s’ de SR T g
YR SIS FURI

A) Dovetail\Sdcd
B) Rabbitfee
O)F inger\w
D) Lap o

Q 90) What type of wood is best for furniture?\BHIER & o frg IR &t aﬁ e 331 Bl %?

A) Cherry\a_T

B) White Oak\qth g 3f1d
C) Pine\UTg

D) Teak\Cldh

Q 91) Identify the chair shown in the ﬁgure.\ﬁa T TR T AR B UgEH aﬁf\

A) Wood armed chair \dS 3TFS TR
B) Steel armed chair \EIE 38 TR
C) Wood armless chair \dS STHAY TR

D) Wood stool\dS ¥gel

Q 92) Which of the following is a type of circular saw blade?\ AT & F S A1 Th YHR DI W ar
&

A) Crosscut\ o1 Idh e
B) Ripping\ﬁﬁﬂ

C) Combination\

D) All of these\d T+

Q 93) Which one of the sawing operation is not related to circular saw machine? \ﬁg oy ﬁ:f 1 HVTE"T
SHTORRI, e I TR I Taifdrd -7e1 82

A) Rip saw\Rg If

B) Mould cutting\ﬁl@' PicT
C) Miter cutting\HTICX P
D) Cross cutting\wvm HicT

Q 94) Before planing, we must inspect the surface for \WIFT & Ugd, g9 & fore gag
EANENENERS IS

A) Tuming\?ﬁ"r[
B) Warping\a'lﬁ:'rf

C) Correct dimensions\ﬂﬁ gﬁﬁ"\"ﬂ



D) Trimming\ia s

Q 95) The maxim%um tiling angle of the band saw machine is oS If 7=l &7 Sifiean fefem
Cal| EEIE

A) 450
B) 60°
C) 90°
D) 120°

Q 96)%Band saw sizes are determined by the \SS T BT 3MHR aR1 i fasa
SIS

A) Wheel diameter\@Id & AT
B) Blade thickness\&IS &1 HeTs
C) Table size\edd DI gqrgel

D) None of these\g_rlﬁ q aﬂ‘s‘ Tal

Q 97) Hollow chisel mortising machine combines the cuting of a chisel with the action of the drill

%ﬂéhecentre.\mﬁmmﬁ,w ﬁ%mﬂwﬁ%ﬂﬁ?aﬁmﬁﬁh@
\

A) Four-sided\dR-H1gS

B) Two-sided\G1-TTS

C) Three-sided\d -8 S

D) None of these\§TH & a’ﬂ% RSl

Q 98) Mortiser machine is a machine, which is used to drill square and rectangular in

timber.\ATTCTR TR TdH TR &, T T dae! § TNeR SR SHAdeR f$d 1 &
fore frar Stran 21

A) Wood working\dS g
B) Metal working\ﬁ??f afed
C) Clay Working\a@f g

D) None of these\g_"lﬁ q ﬁs‘ :l_ﬁpf
Q 99) What is the name of carpenter tool shown in the ﬁgure?\%ﬂ T oY T HRUR 3R T T 1H %?

A) Claw Hammer\fﬁﬁ%ﬂ?

B) Ball peen Hammer\Sid U %TR

C) Cross peenHammer\a?\llﬂ ic| %IIT
D) Straight peen Hammer\ef Lig| %TR

Q 100) Which of the following is not a type of furniture table\RRIRET & J B I T JHR BT BlR ead

82

A) Tea table\&l <IA

B) Computer table\hC <§d
C) Dining table\SEﬁ"T L[]
D) Excel table\qa:aa o9d

Q 101) The power plane is essentially a that drives a cutter bar.\UTGR W9 dRad H T
&, Sl Pex SR Tl g

A) high-speed motor\ 3T AIeX
B) high-speed engine\ﬁ-‘Tﬁf EE
C) Low-speed motor\FH-TTiY Hiex
D) None of these\é_rlﬁ I aﬁ‘s‘ 71?3[



Q 102) Sanding discs are installed using & fews BT TNT HRh T P
SR R

A) Two wrenches of different sizes\faf¥T BRI & 1 kT

B) Pressure-sensitive adhesive\qdld & Ufd Yo =iia sieid
C) Tension knob\&¥H AT

D) Chuck key\dd® &1

Q 103) Identify the type of sanding machine shown in the ﬁgure.\ﬁﬂ T ool ma Tf$ 7= & yeR &I

A) Disc sander\f&%F HT

B) Belt sander\See T

C) Spindle sander\[UST T
D) Gear sander\fTRR TR

Q 104) In frame and panel construction, the outside vertical frame members is \ThY 3R et fmfor ﬁ,

TRdafeahaiwr Bl

A) Stiles\ Rew
B) Rails\\d@
C) Lock rails\@es ¥

D) Mullion\gfera

Q 105) windows are similar to the sliding doors and the shutter moves on the roller bearings, either

horizontally or vertically.\ mmm%wg 3R WWWWW%
1 A &I 1 fead TU A

A) Sliding\ XS
B) Swinging\w
C) Rolling\ IHT
D) Metal\¥TJ

Q 106) Sliding window is a type of window in which shutter moves RS RISH! Th UHR oI
foeaie, P Fadizl

A) Horizontally\aﬁ\_ﬂ fo=m

B) Vertlcally\G‘fﬂ'fﬂT fe=nd

C) Either Horizontally or Vertically\dT @ afast o= o a1 Ieafer fezm &
D) None of these\é_'lﬁ q aﬁ‘a‘ TéT

Q 107) What is the main purpose of putty on a surface?\[d &l Tlg TR QEQ[ P B q7 3%'581 32| %?

A) To fill any hairline cracks or holes on the surface of the wall \ IR &1 gdg IR fa o garars— RRI 4
fsal &t 4R & forg

B) To create a uniform, levelled out surface ready for painting\ﬁaab_cﬂ & fom R U YA, WRd T8 -
& fer

C) To prevent or reduce water seepage/absorption \ Ut & R/ 31a=NY0T B b T HH B & g

D) All of these\d T+

Q 108) Name the accessory which is NOT used in drilling machine.\Sd SUHTEH T o1 914 &, o1t f3forT H=fi=
o unT =Y fobar orar 82

A) Tool holder\@'ﬁg}l@
B) Sleeve\&ild
C) Socket\TTdhe

D) Drill chuck\f$d I



Q109) A is a power tool that can perform heavy-duty tasks such as drilling and chiseling hard

materiz%s.\ WW@%,@W-WW%%W@WW@WW
qohdizl

A) Rotary hammer\RIex1 E’Q?ET

B) Jack plane\% wH

C) Belt sander\Se€ T

D) Reciprocating saw\ XTI f

Q 110) A wooden piece provided at the Ridge line of a sloping roof is known as the AYINIE| qreit
Bd I RS A% R UM P S arelt ddbal Bl gl EASCE ISR

A) Rafter\RTUcX
B) Ridge\RS
C) Gable\I&d
D) Pitch\f0

Q111) In roofs, the common Rafter are provided to itself without any intermediate support.\

Tl |, AT AR ) forr ol wemadf Temadt & e S g |

A) Single\Uh T
B) Double\GI8¥
C) Purlin\gfei

D) Trussed\gHS
Q 112) Figure given below shows a \ e e war o cRIId %I

A) Queen post truss\& 19 URe [}

B) King post truss\[dhTT Ue 03]

C) Both queen post and king post truss\P I TR 3fR {7 Ui (3] G|
D) None of these\_s"_ﬂ}[ I aﬁ% 7‘|—6‘T

Q 113) floors consists of single joist which are placed below the floor boards.\

mﬁwmsﬁ% R rIR Srel & 1 T@ ST 2

A) Single joint timber floon\ R GITE_C' for R IR
B) Single joist timber floon\RITTE Sigee fotaR TR
C) Single timber floon\RITTE feTaR wIR

D) Joist Floor\WIgC TR

Q 114) The size determines the coarseness of a sheet of sand paper\ DI YISV, I TR
e 1 R FReiid Brar g

A) Gritflie

B) Sand\ TS

C) Paper\UIR

D) Aluminium oxide\UcGHIIH SHFTES

Q115) Whic%h tool is used by a carpenter for smoothing Wood?\?ﬁ?—@ﬁ G2l Y M & [T HRUCK ford [S§cal
TN &l 82

A) Plane\WH

B) Chisel\dISTdl
C) Rip saw\RT IF
D) Rasp\R[™YJ

Q 116) Changes in wood moisture content can result in of wood which can stress and crack

coatings.\@PHS! I TH! AT & UG & IRUTHGREY, ddhal H B gphdl §, Sl Fifc



TG 3R b PR bl o

A) Swelling\gpdlldc

B) Shrlnkage\ﬁlw
C) Swelling and shrinkage both\WlTll?:r 3R ﬁlﬁ:{ aHl

D) None of these\g_"lff q aﬂ‘a‘

Q 117) is particularly effective at removing iron stains from wood.\ , F’Iﬁ qde

P ST b TN e B 929 =0 J JHId g B

A) Oxalic acid\3ffaf® TRIS
B) Bleach\&i1d

O) Water\TT1

D) Oil\dd

Q 118) Primers are used A Eﬂ%ﬂﬁ ST I [ERIRSIGI %I

A) Before painting\a. H 1171;
B) After painting\a FE = 2K o4
C) Together with paint\a_cr & Y

D) None of these\i_*lﬁ I ﬁé :l_Eﬁ
Q 119) The most durable varnish is AT feprss arHw H

A) Oil varnish\3TI aTf==r
B) Water varnish\d[cX arffar
C) Sprit varnish\f&re arfer
D) All of these\d Tt

Q 120) In Wood working CNC Router, CNC stands for A afbT TRt @R H CNC &
3 g

A) Computer Numeric Control\ev®ex QIQW W
B) Control Numeric Control\m W W

C) Computer Number Control\w dR W

D) Counter Numeric Control\®T3c W hclel

Q 121%) In CNC operation GO0 is a code for AT SfR=E H Goo & e e
IS

A) Rapid positioninga‘ﬁg TroH=IfT

B) Linear interpolation\?ﬂﬁ'ﬂ? mﬁ-‘?ﬂ
C) Circular interpolation\ﬂw ERRUINRE]
D) None of these\é_rlﬁ J aﬁ‘s‘ 71?3[

Q 122) In CNC operation MO0 is a code for .\W ST H M00 & ﬁ“l'q
TS IS B

A) Program stop\tn";lm €
B) Spindle start\ ST WIE
C) Tool change\gdl ES]

D) Coolant on\ﬁ_cr 3

Q 123) What should be the moisture content when the density of timber is determined?\SI§ fersR w1 9a
e fopan o &, T 39 wHg 76 B A fha g A

A) 12%
B) 18%
C) 20%
D) 22%

Q 124) The main component of wood turning lathe machine is s ¢ FTaymeia s HB7 3{qyq
[

A) Head stock and spindle\%_s' Tl 3R fAsa
B) Tail stock and poppet barre\ed W 3R TUE R
C) Bed and tool rest\§8 3R ;‘ﬁw



D) All of these\d T+

Q 125) Spindle turning involves turning stock held between the live center and the s e d
T Wi, T15a Yer 3R F @ T

A) Spur\¥X
B) tool rest\@'ﬁw
C) Headstock\

D) Dead center\'SS Y
Q 126) The FIRST priority when working at a machine is-\ R TR BTH Hd 99 Jad UE?T q%?ﬁ Ty

A) Don t make any mistakes\ﬁ’&F Tt 7 B

B) Watch the other people around\3{TRTUTH & 3 AN Bl o
C) Always thinking about safety\%'ﬁ-‘?ﬂ R S IRT I

D) None of these\g_"lﬁ q ﬁ :l_ﬁpf

Q 127) Wax polish on wood comes under in which of the following category?\ aﬁ TR ] o1 aTell 999
giferer e # 9 foret 9oft 7 st &2

A) Evaporative\EITm'-‘Zﬁﬁ

B) Clear\tUy¥
C) Water based\SIeT 3T TR

D) None of these\ZTH § BIS ol



ILevel 1 Answer key

g:.estion Option 1(\?(l:-estion Option 1(\?(l)l.estion Option 1(3(1)1-estion Option 1(\Iz(l)l-estion Option
1 B 31 B 61 B 91 A 121 A
2 B 32 A 62 A 92 D 122 A
3 A 33 D 63 A 93 B 123 A
4 A 34 C 64 A 94 C 124 D
5 B 35 B 65 A 95 A 125 D
6 D 36 A 66 A 96 A 126 A
7 C 37 A 67 A 97 A 127 A
8 C 38 A 68 A 98 A

9 C 39 D 69 A 99 A

10 A 40 A 70 A 100 D

11 B 41 D 71 A 101 A

12 B 42 C 72 A 102 C

13 C 43 B 73 D 103 A

14 D 44 C 74 A 104 A

15 C 45 A 75 D 105 A

16 B 46 C 76 A 106 A

17 A 47 B 77 A 107 D

18 C 48 C 78 A 108 A

19 C 49 D 79 A 109 A

20 C 50 A 80 A 110 B

21 B 51 C 81 A 111 A

22 A 52 B 82 A 112 A

23 B 53 B 83 A 113 B

24 B 54 A 84 A 114 A

25 A 55 A 85 A 115 A

26 A 56 A 86 A 116 C

27 A 57 C 87 A 117 A

28 C 58 A 88 A 118 A

29 A 59 D 89 D 119 A

30 D 60 A 90 D 120 A

Carpenter Level 2




Q 1) Softwood con%les from evergreen trees that are called ............ / FaldeR q&ﬁ J Hgq aﬁ foerett % S
.......... PEA S |

A) Deciduous / TUMITT &
B) Pine / A1S

C) Conifer / TP g

D) Fir / GAGR 3&

Q 2) What is the type of saw shown in figure given below? /T T 7Y 3 # 9 ISR 1 9f faamar %
?

A) Bow saw / CIKl

B) Coping saw / HIftT
C) Fretsaw / el

D) Compass saw / SN Il

Q 3) The term kerf is asociated with.............. JUeHEH . q grEg g % |

A) Files / ¥t

B) Hammers / gzﬁ@ﬁ
C) Saws / 3R

D) Chisels / EXil

Q 4) In the figure of a chisel shown below, what are A and B called as? IEICARES LRI FN P ANTHA AR B
DR HEAG ? A

iz

- T t)

H
5
A) Edge and ferrule / TS 3R IR
B) Chisel blade and tang (inside handle) / fISTd &8 3R & (@ & 3iR)
C) Face and toe /g 3R
D) Edge and toe / TSI AR A

Q 5) Identify profiles A and B of the saws shown in figure given below. /= feamy 7Y 3 | 4T o UIHiRd A
3R B ®I UgaH | A

L i
\ ! ke {
L R WA 4 At
Ry N/
s | f ot |l|'
\\\ = \‘.I * i
iy "y

\'\\ .-\. -J:. " ‘.I'-

LR, i b Ly
) AL A T
\ s

\ /S \

{1 !

A B

A) (A) Rip profile (B) Rip profile / (A) RT w18 (B) Ru Uibrza

B) (A) Cross-cut profile (B) Rip profile / (A) HIY-He UHRd (B) Ru oersa

C) (A) Rip profile (B) Cross-cut profile / (A) XU TIhT2d (B) HIG-HC WhRd

D) (A) Cross-cut profile (B) Cross-cut profile / (A) HIg-He UHRd (B) PIY-BH UhIsd

Q 6) Identify the type of shakes in the timber shown in figure given below. / i 3 # fewme T fereRk # /i
& UDR B UM B |



A) Cup shakes / ®7 JH
B) Heart shakes / E'I_CF b
C) Ring shakes / FURED
D) Star shakes / %R ElEg

Q 7) Which one among these timbers has the highest density? / g IRl H forget g Sifererdd giar % ?

A) Teak / AT
B) Deodar / GAR
C) Chir /TS

D) Kail / &

Q 8) In natural seasoning of timber, it is difficult to reduce moisture content below .. / feraR & W =T
AT S asnsd ... A P P B |

A) 15% /15 %
B) 25% /25 %
C)35%/35%
D) 45% / 45%

Q 9) Application of creosote oil is one of the methods of preservation of timber. What is creosote? / e

AT T TENT feTaR I TREUT T Th dRIPbT § | P3N FT 8 2

A) itis a kind of paint/ T8 Th YBR BT U T |

B) It is obtained by distillation of coal tar / g ARBIA b T A U Eﬂ?ﬂ % |

C) It is a type of chemical salt like copper sulphate / T8 HIIR Fehe o YA Th THR &I RS 7S gl
D) It is like a lubricating oil / dg Qﬁﬁ'ﬂ 3T & JHA @Tﬂ % |

Q 10) In the figure given below, which one is corner half lap wood joint? / i feu U s o DI BIAR BIth

A) Joint 1 /SIg=< 1
B) Joint 2 / SI$=< 2
C) Joint 3/ S8 3
D) Joint 4 / SIS 4

Q 11) Why is plastic resin glue NOT recommended for use on outdoor furniture? / §lTgX T WM 1 HHR TR
TTRES M o T TN B Bt R 3 18 fpan sman g 2

A) It is not waterproof / g STERIYD :l_bp[ @ﬁT % |

B) It is not water resistant / Jg Sl gfeRIelt 78 grar % I
C) It melts in sun/ﬂ?ﬁdﬁﬁﬁﬁwwg |

D) None of these / _s';l'af T ﬁé :l—E)p[

Q 12) What is the other name of pith in cross section of tree? /J& & B YR H Oy &7 QERT ATH =T 79

A) Xylastrus / SIS
B) Medulla /
C) Parenchyma /

D) Cycadophyta / BIEEARIRIE]



Q 13) What is NOT recommended for exterior? / &g} & 1%112 frgm! R :ré‘rﬁ ikl % ?
A) Marine board / e

B) Hardiflex /
C) Ordinary plywood / STHYRTT Wﬁ@@'
D) Ficem /

Q 14) What term is used to describe a wooden member built up of several layers of wood whose grain directions

are all substantially parallel? / A a! & B3 URd! T T g4 AR &1 gdH & 7T fohd Xeq HT AN I §
S U9 &1 I DTH1 G db THFH

A) Laminated timber / dfAcs forer
B) Treated lumber / _@%_E;' [SER

C) Glued lumber / 718 ¢HRY

D) Chip board / feT SIS

Q 15) Manufactured boards are considered substitute for solid wood. What is NOT true about manufactured

boards? / ST §HT VIS B! 31 Ab ! BT RIMTF AT ST 8 | T4 gUES b aR & FTIT T8 § 2

A) They are stable / g RR 3N % |

B) They are available in large sizes with uniform thickness /g Uh AT IﬁE‘l’sc T a@’ 3MHR H Iud E?Iﬁ % |
C) They are economical / Y frwTad) fﬂﬁ % |

D) They destroy tropical forests / T IWmed i STel &l 78 Hd % I

Q 16) In fixing 12 mm plasterboards to a timber stud the most suitable fixing to use is / 12 forf wRezas &t
foreR wwe q wie # yaT 8q 3ifa Suged e 3

A) 50 mm oval / 50 o} afaad

B) 35 mm stainless steel screws / 35 ol wea i b
C) 35 mm drywall screws / 35 ﬁrﬂ@é_ﬁﬁ g

D) 75 mm roundheads / 75 ﬁiﬂm@%@m

Q 17) The nail size unit is called ............... R R ESE (G0 P PEA T |

A) Numer / THR
B) Penny Number / BRIEN
C) Weight in grams / HR JTH |

D) None of these / Rtk aﬁ‘s‘ T8l

Q 18) Long narrow hinges that run the full length of the two surfaces to which their leaves are joined, are called

........... /9 el Hep T St &) Feel b1 Ul oiaTs H erdl & o SAb T IS B 6, .. .. ... . PG OB |

A) Parliament hinges / urfeare fée
B) Olive knuckle hinges / 3fifcTd T fgof
C) Invisible hinges / s:ﬂ%ﬁﬂaﬁ %\_rf

fest

D) Piano hinges /

Q 19) What is shown below is a piece of metal(Lock) for protection around a keyhole. It is called.... / BIEREIREG]
H A F Be P IR 3R JR&M & A0 u1g & ghel feumn g 159, ..., PEaT |

2
™

A) Cover / hdX

B) Face / Y

C) Block / ST

D) Escutcheon / Txh T

Q 20) Identify the tool shown below which is being used to draw a large circle. /= feam g cd P UG B
ORI TR 5781 g &1 & AU B @18 |



A) Scriber / ThIZAR
B) Divider / fS$argex
C) Trammel / atlﬁ

D) Caliper / PR
Q 21) Pine wood is an example of ............... /%ﬂgaﬁm ........... CARSARRY % I

A) Deciduous / gufordt g4
B) Conifer / i J&

C) White / gthg

D) Construction / fRmfor

Q 22) What is the type of joint shown in figure given below? / 1 3R H farg YR 1 g feamar man g 2

D

N P
A) Rabbet joint / YsS€ Sge
B) Mitre joint / ﬁl_gp[ SIESS

C) Finger joint / R Sig<
D) Tongue ang groove joint / ¢IT AR Jadig<

Q 23) What is the type of screw head shown in figure given below? / I fed T s o fh g YR &1 p g8
fe@mn g

A) Philips / Tofersg
B) Tamper resistant / CHR IRT
C) Torex /

D) Allen / UeH

Q 24) What are the edges A and B (figure given below) of wooden pieces called? / ?’Fﬁ'ﬁ & gao% F A 3RB
fFRI (e SRE A TG T 8 ) Bl RN HBd © 2
A B

TN |

A) (A) Bevelled (B) Tapered / (A) Jae B) s

B) (A) Bevelled (B) Chamfered / (A) 9GS (B) WS
C) (A) Chamfered (B) Bevelled / (A) IS (B) CERS
D) (A) Chamfered (B) Tapered / (A) THHS (B)

Q 25) Figure below shows three planes. Name them correctly from left to right. / e o ¥ o wiA feaman
TR | g H HEl A a1 A G ] |



1l 141 A

A) Jack plane; Smoothing plane; Try plane / S @ ; F{ﬁ_ﬂ @ ; ETS‘ @
B) Try plane; Smoothing plane; Jack plane / glé @7‘[; FIE_’T @ ; ECANE]

C) Smoothing plane; Jack plane; Try plane / Hﬁ_ﬂ wH ; ECZANE ; ET'EE @
D) Jack plane; Try plane; Smoothing plane / S @ ; E:F-QF i ; WE‘T @

Q 26) Which statement is NOT true with regard to electrical seasoning of timber? / feR & @@W BiSIRU
FIRA DT AP TI T8I 8 ?

A) 1t is rapid method of seasoning / U5 T &1 dg aipT % [

B) It uses low frequency electrical current / Ig g &rrqi?f hl _s'@ﬂt%ﬁb_d PHT DTN EIAT g |

Q) Its initial cost and maintenance cost is high / DI IMRYP AT 3R STREUT AITd 3= Eﬁ?ﬂ % I

D) Timber, when green, offers less resistance to flow of electric current / 5T feTR 81 garg drag _&r@ﬁ%?ﬁ
P & UATE b Ul HH UcRIY PRATE |

Q 27) The conversion of timber as shown in figure given below is .............. | feTsR &1 T UK, T A SR
feem g3 .. ...

A) Radial sawing / A& FrgT
B) Quarter sawing / @ R RGN

C) Tangential sawing / ORI T
D) Baulking / ST

Q 28) Where the door is required to swing both ways, the hinges used are ............ / T8t eaTSl Bl gl R

EGRGIAISG A R R UG ATHE A e |

A) Double action hinges / Sd¢T TR %\_ﬂ
B) Tee hinges / S few

C) Friction hinges / e &

D) Concealed hinges / FHlcs fgor

Q 29) Figure given below shows a .............. /A SREH . feam g |

_—
)

A) Spring latch / IEUAE]

B) Deadlocking latchbolt / EENIERINERIG
C) Auxiliary latchbolt / 3TTRICE deElee
D) Deadbolt /

Q 30) The outer member of a truss that defines the envelope or shape is / are ................. /DT CIRRIREESEES]
U A1 0 B ORI AT, ... gl

A) Web / a9

B) Chords / ®TS
C)I-beam/\?d'lg-ﬁﬂ'q
D) Concrete / [

Q 31) In the figure of a truss shown in figure given below, strut is represented by .... /=i feg LRy mﬁgﬂ



A) 1
B)2
0)3
D) 4

Q 32) In the figure of a table shown below, what is the part indicated by arrows? IEiE] RRGI I TTA P G H
IR e maru /g 2

A) Apron / TUq

B) Decorative bead / golrac) dis
C) Cross member / Pig AraR

D) Corner brace / BIR S

Q 33) In the figure of stair shown below, what is A called? Eic] ié@ Uiq Gﬁﬁ% MG H A Bl EP’:ITW?[ % ?

A

A) Tread / 33
B) Rise / XTSI

C) Nosing / TifSHT
D) Teething / i

Q 34) In the figure of a stair shown below, what is the distance A called? / RIEARES URIlYy S & oM@ o @ A
B RTFEAR ?

A) Staircase Step / XHY 'Y
B) Staircase Rise | R IFS
C) Staircase Going / XHY Tﬁ%"T
D) Staircase Space /R T

Q 35) Figure below shows a mechanical tool which is called ............ /= o T gife ed faman man % [SKi
.......... FTAG |

==l




A) Cat/ T

B) Dog / i
C) Wolf / dicth
D) Sheep / 21T

Q 36) If a dispay board is to be hung on a wall, what will you use for hanging? / afe fewa TS A GIaR R
TCHIAT I & il MY ACH o forg ol TN B 2

A) Screw eye / ¥p \3'IT§

B) Square hook / WM gPh
C) Bench hook / CEl gh
D) Pincer /

Q 37) Name the chisel-like tool with a curved or V-shaped blade used in wood crving. / d¢h Ul - MHR & &8
o D1 oI MR o A el o FapTeit & foe T aRd &, SAHT T § |

A) Gauge / ™
B) Gouge / T3S
C) Gamut / €
D) Gout /T3¢

Q 38) What is the abrasive grit most often used on sandpaper? / FSUTR R UI: Tgad 3qgye e g g 2

A) Talc / Teh
B) Boron / IR
C) Flint / e

D) Pumice / ufe

Q 39) What is the type of window shown in figure given below? / T 3 # ford UBR &Y @Eﬁ ot it
g2

A) Sliding window / TTS[&T RagHT
B) Louvered window / iﬂﬁ@m @_Saﬁ
C) Casement window / FH<T ﬁeﬁ
D) Sash window / %1 st

Q 40) Name the reciprocating electrical saw which is particularly useful in cutting curves. / 39 e

SAfacdhd Al &I 1H §dTd S fIRIY & J ah Hic § ST I g |

A) Table saw GRS
B) Scroll saw / T I1
C) Jigsaw / fommat

D) Band saw / CER

Q 41) When using a plane or a chisel, wear ............ /TS QAT I BT dRagal. ... .. e |

A) Gloves / INIE]

B) Eye protection / 3 Gl GRET IYDHRUT
C) Ear protection / T &1 gR&ET 3UDHTT

D) Leg coverings / WRI B g ardd 37—5@

Q 42) Why is it important to turn the wooden piece on lathe manually before switching the power on? / o w=iiA

DI 3T B Y USd 3 R APh Sl &b gha bl g1y I YA 3 Heaqul g g 2

A) To check for splinters and cracks / fReier 3R e Pt T FA B fom
B) To check the tool rest clearance / EW N AR IEETE R 1%111



C) To check that stock is not loose / ST BT % s S g |
D) All of the above / SUYad Taft

Q 43) Traversing the tool on a lathe parallel to the axis of the job is termed as .... / TG R G & e & FHHR
GRG0 SO FEAT |

A) Cross feed / EARRI]

B) Longitudinal feed / dddd g
C) Traverse feed / Eaﬁlﬁ's’

D) Depth feed / S TS

Q 44) What tool makes cuts at an angle to wood using a circular blade? / gul®eR IS BT TN Hb Ahel TR
WA BT B & [ e SR BT TAFT Bl & 2

A) Chain saw / Eoksl
B) Mitre saw / ﬁrgﬁ ar
C) Drill saw / fgar &1

D) Wonder saw / CERE:IE

Q45) %Vhat does a timber scribe (shown in figure below) do? /e XD ( TR 3ma | feamar % el
Hdl B ?

N

A) Hook onto nuts and bolts for easier removal / ST O fRpTe & ﬁ“l'q Ac \’rﬁ?' e A Bh BTl % |
B) Used for marking trees and timber / q&'ﬁ IR R A PR T & f%fq TN BPI?IT % |

C) Peel off dry wall / & SIAR ®I BlaH o g

D) Used to cut wood into half / aﬁ P 3T HTeA & o Tt

A) Sliding knife / SRS AIZH
B) Utility knife / gfcferd! A8
C) Handy knife / 381 135

D) Pincer knife / =R A%

Q 47) The process by which a CNC machine is brought up to full operation is called .. / dg ufeear fora <t LG}
0 o= & gof o A e ST g, L FEd g |

A) Dry run/s'l_spﬁ
B) Jogglng/\_ﬂ"illl

C) Zeroing /
D) Initializing /

Q 48) Identify the tool shown in the figure \FF & G T 3SR Pt U= &Y

1) PﬂIHT ~STRUGHT pOINT TYPE

A) File\ Yl



B) Chisel\ &t

C) Micrometer \

D) Scriber\ @RIA®H
Q 49) Identify the tool shown in the ﬁgure.\ﬁﬂ T T T 3SR &I Uga ﬁ|

A) Trying plane\?\T’&f_’T @

B) Jack plane\

C) Smoothing plane\F{[m"T @
D) Rebate plane\ﬁa_cr @

Q 50) Which of the following is the mechanical property of wood?\FEIREd & § B W1 At o1 T Tor

?

A) Strength\gra

B) Toughness\iﬁqgl'qq
C) Hardness\

D) All of these\d Tt

Q 51) What is Seasoning?\?ﬁﬁiﬁﬂ Culf %‘?

A) Process of water removing \ar E?Ief &1 wforan

B) Process of burning timber\@h ! SIcT &1 UishadT

C) Process of adding preservativestlm&‘lﬁ DI A Bt Ufchar
D) Process of adding glaze\TTRIT T 1 wfehar

Q 52) Identify the type of joint shown in the figure.\[o & TR T TS & YHR B UgaH HY|
RS =3

A) Mitre joint\ HTICR Sigc

B) Finger joint\fﬁ'ﬂﬂ Sige

C) Fish joint\f(h¥1 Sifge

D) Half lap joint\8TF QY Slige

Q 53) Identify the type of joint shown in the ﬁgure.\ﬁﬂ TR \_rﬁg & UHR &I UgdaH ﬁ|



A) Bridle joint\§[g S GrT's;‘c’
B) Finger _]01nt\ﬁ'>_rlT Sige

C) Fish ]omt\fEb_EZT Sige

D) Half lap joint\gT% o Sige

Q54) joints are employed to extend the width of board or planks, which are placed edge to

edge.\ SISl B SIS T a%d] o1 TSTS BT [ B & o o1 H foran Sran 7, 5 frR
J PR a6 @S |

A) Widening\aig ST
B) Angle\QTl?T

O) Lapped\a'@

D) Lengthening\a"zﬁn

Q 55) Which one of the following is a striking tool?\FHIRYd & T TTefh T S W B2

A) Hammer\%ﬂ?
B) Reamer\ IR
C) Jumper\STHIR
D) Hammer bit\%ﬂ? fae

Q 56) The hole is drilled to receive the threaded portion of a wood screw. \dS ¥ Il 4SS YN T

Ffg  fesRafraremry

A) Shank \Qi®

B) Counter bore \®T3cX TR
C) Anchor \THR

D) Conter sink \@®T3cx Ri®w

Q 57) Which board is made up of country wood strips of various sizes ranging from 18-38 mm in thickness?\18-

38 fipef) 1 Hiers aret faftre S RY @l el g8 B ufeal fbw a1 &t gt &2

A) Hard board\%'l?:c CIS]
B) Ply board @S SIS

C) Chip board \RIT 1S
D) Block board &A1 SIS

Q 58) What is the standard size of laminates?\m & S MHR 1 %?

A)4x38
B)3x7
0)5x%12

D) None of these\3TH & aﬂ‘s‘ 8l

Q 59) The purpose of seasoning is not to reduce ST BT 3%311 P HH HAT ﬁ%ﬂ

A) Hardness\@3Rd
B) Shrinkage\Rig e

C) Weight\HRR

D) None of these\g_"lﬁ I aﬂ‘s‘ :rsﬁ
Q 60) Identify the hand tool shown in the figure?\TH H I T2 5% SINIR &1 UgaH 62

("\A
Py

A) Hand drill\§08 f$a@
B) Gimlet\
C) Ratchet brace\TC S



D) Electric drill\3afaged fgd

Q 61)%Which preservative is used for preservation of timber?\m & TR&U1 o ferg DI T TREIPH IJUTNT o
ST 8?2

A) Tar\CR

B) Paint\Uc

C) Chemical salt R Ao
D) All of these\d Tt

Q 62) In which direction, the feed roll moves the stock for planning in thickness planer?\ IREERATER ﬁ, @
& forg wis et Tl o fa ferm & e &2

A) Backward &

B) Up direction\ &R P! [T
C) Forward\

D) Down direction\Td &1 fa=I

Q 63) Identify the machine shown in the ﬁgure.\ﬁﬂ o gt Tt 7 B ggaE aﬁ\

A) Chain mortiser T AETR
B) Portable electric jig saw\UIead m ISUE]

C) Disc sander\

D) None of these\é_'lﬁ I ﬁ's‘ :lgjf
Q 64) Identify the hinge shown in the ﬁgure.\%ﬂ b et T4 8 @1 gga™ ﬁ|

A) Butt hinge\dc e

B) Flush hinge\0eTRT fgf

Q) Lift off hinge\[eTde 3T &t
D) Tee hinge\a e

Q 65) For filing cabinets which of the following lock is most suitable?\WTSIeRT dfa-e & fau FafaRed # 9
DI T AT T SUgad 87

A) Cam lock\&pH AlH

B) Pad lock\US Wl

C) Mortise lock\AIET @ich
D) Bored lock\&S @l

Q 66) Identify the lock shown in the ﬁgure.\ﬁﬂ T G T Alh P UgdH aﬁ|

%ﬁ >

A) Mortise lock\ATEY Tl

B) Cylindrical lock\Ricifgdd dld

C) Bored lock\&IS deh



D) Unit lock\gfAc i
Q 67) Which among the following is the most rigid door frame?\ R & V P Fa9 HAR 1ol T 82

A) Tenon and mortise\e 3R HIfeH
B) Canto mesa\de] AT
C) Over lapping frame rabbeted\ iR aft B Afees

D) Dovetail\

Q 68) The traditional door shutters have inevitable problems of wrapping, rotting, painting and

maintenance.\ORUN m@f IR fﬁﬁ"T ﬁ%ﬁ"'{ ofer 3R Y@@ B &NWWTQ %I

A) Metal\YTJ
B) Wooden\
C) Glass\® 1

D) Plywood\‘?ﬂg@g

Q 69) Which tool can produce face side and face edge in wood?\®1- TT IUHRUI el H B TES iR By
TS T I BR Tl 87

A) Jack plane\% @

B) Belt sander\eT T8

C) Reciprocating saw\XRTSoR e |f
D) Router\Y$H X

Q 70) Which one of the portable machine tool is very competent for cutting wood, composition board, veneer,

plastics, card board and leather?\Tﬁ:f Tt rdad 7=i IuERUTH Y aao?ﬁ, AT Eﬁ‘s‘, a:ﬁT, W, EFKC‘;: Eﬁé
3R IS PIeA & forT Igd T&H g

A) Portable electric jig saw\UIeaa 3@% ot
B) Portable electric circular hand saw\thgaa 3@% W %'US" Tr

C) Portable SanderUicad &

D) Portable electric Router\ I ad Eﬁm 3R
Q 71) What is king post truss?\ T UORe [R3c) BT g?

A) A king post truss has two principal rafters, a tie beam,and a central vertical king post\Uh fhmure < oal
TG RUR, T T S 3R T R aefepet b1 Uiee 21

B) A king post truss has one principal rafters,a tie beam,and a central vertical king post\Udh [CRIRIE [ | Uh
TR TR, TP T8 A 3R T YreR qeiehd [T URe Bl §

C) A king post truss has two principal rafters and two central vertical king post\UH fhmurRe o o qJ7
G 3R & Y afopet febeT Ue B B

D) None of these\g:lﬁ I aﬁ‘s‘ qﬁf

% 72) Which of the following is not true for finish turning? \ﬁgﬁf@ﬁ 7Y B a7 fosfa=r MUk f%fq ﬂﬁ =r5°r
9

A) The tool used is a skew\JRINT faodT ST aTel cd fRergars

B) Either cutting or scraping methods may be used\dT @ T a1 h T fafdrat &1 v foraT o YT §
C) Work is begun at the center of the workpleceam P Iz APH = giare

D) None of these\é_rlﬁ I aﬂ‘s‘ :%)f

Q 73) What the name of the chisel used for cutting rough surface quickly for turning on wood turning lathe?\dS

T Y Pl g HRA & T WRE T Bl et F dHled & U SHAT B S aTell -t BT o1 -1 g2

A) Firmer chiseNHR forerd
B) Gauge chisel\TIS fasT@

C) Skew chise]\¥b1g ferera
D) mortise chise\ATTEY e




ILevel 2 Answer key

Question No. | Option Question No. | Option Question No. | Option
1 C 31 D 61 D
2 D 32 A 62 C
3 C 33 C 63 A
4 B 34 C 64 A
5 C 35 B 65 A
6 D 36 B 66 A
7 A 37 B 67 A
8 A 38 C 68 B
9 B 39 D 69 A
10 A 40 C 70 A
11 A 41 B 71 A
12 B 42 D 72 D
13 C 43 B 73 B
14 A 44 B

15 D 45 B

16 C 46 B

17 B 47 D

18 D 48 D

19 D 49 A

20 C 50 D

21 B 51 A

22 A 52 D

23 C 53 A

24 C 54 A

25 C 55 A

26 B 56 C

27 B 57 D

28 A 58 A

29 B 59 A

30 B 60 C




